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1. BEEBEREO
(1) FEEINEE
EE e 74,304,000 45,696,000 120,000,000
NEN 74,304,000 45,696,000 120,000,000
EXMEERAST 1,000 1,000
EAXPEZIRAR 1,000 1,000
ZhMEE 395,000 395,000
NEI-FS 160,000 160,000
S UES=ES 235,000 235,000
SN EFE 4,000,000 4,000,000
EEBRE 4,000,000 4,000,000
kA AR E 0 0
REBIRE 0 0
ZmEKE 1,000,000 1,000,000
Hhtd 1,000,000 1,000,000
AN 6,004,000 6,004,000
ZEFIR 500 500
ZME LS 500 500
git& 0 0
HURA 6,003,000 6,003,000
REEE 0 0
EXUEBZA 0 0
BEIEEE 85,704,000 45,696,000 131,400,000
(2) BEER
EXE 84,805,000 84,805,000
HwE5FH 42,055,000 42,055,000
EE 700,000 700,000
EERMNE 5,950,000 5,950,000
BN S 11,000,000 11,000,000
Hl{EE 1,000,000 1,000,000
ZEoE 2,000,000 2,000,000
LEERE 800,000 800,000
EHREE 400,000 400,000
WREXEE 15,000,000 15,000,000
PRAE 3,300,000 3,300,000
EtEE 1,300,000 1,300,000
X IVRERF 900,000 900,000
RSN E 400,000 400,000
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EHE 45,695,000 45,695,000
1% B $REN 4,529,000 4,529,000
HwE5FH 18,116,000 18,116,000
5 300,000 300,000
i 0 0
BEEREL 300,000 300,000
EiES 300,000 300,000
EEENE 2,550,000 2,550,000
BIELEE 800,000 800,000
HE 500,000 500,000
BREXEE 50,000 50,000
e 200,000 200,000
RS 800,000 800,000
HWRRE 3,720,000 3,720,000
HER 6,000,000 6,000,000
BEE 30,000 30,000
KB EE 1,100,000 1,100,000
EBRERERE 900,000 900,000
HERE 300,000 300,000
&M 1,800,000 1,800,000
RIEE 1,100,000 1,100,000
XL HE 250,000 250,000
HaE 800,000 800,000
FENEE 200,000 200,000
HE 1,000,000 1,000,000
EANTE 0 0
XILFIR 50,000 50,000
Miax 0 0
BEERH 84,805,000 45,695,000 130,500,000
LR EIEEE 900,000 900,000
& B — ARG IE DR BA EE 1SR 900,000 900,000
—REKMEYPSES (FHNSEFIAXRES) 92,824,815 92,824,815

I IREIERMEEFBOR
SZREHEE 4,000,000 4,000,000
—REREIE~NDIREEE 4,000,000 4,000,000
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EEERMENEERR

HBEEKRMENRES
I FRMERARES 92,824,815 92,824,815

GE) EARBESRE 30,000,000 M
EBaEE 0M




